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ma Assignment e—

Complete pgs. 410 -411

Questions 1,2, 3, 5, 6bc,
7bc, 8, 12(ab)
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m Solutions -eeeseeeee———
1. Eyaluate.

yl-51 b) |5 3 -¢.71

= 5‘5 )lz‘“‘E C)- 6.1

. eqrrcm e these numbers in order
Fvom ast ‘o Sreod—es-\—.

4, 1T, s, mo, g, el 14

= 4,3 ,35,-07, 3__or 45 Lk, 1.5
From least +o Srec\-\-es+ - |
-4 -2, H_L\ =FAN r \EL\

21
';;50) 1-1-2,1 b) h-3+u-e\'
= \-9l = | Q¢
=9 “—'\.2;&__

&) 51-ans) A 18=71+ -0+ 23]

= 5(3.15) = 125-7l +1-10+%]|

= 1|8.15 = ligl+1-2]
= 18+
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5. QOver +he course of five weeXda B,
stock on +the Torontod

onhe m\'nms
StocK EFxchange (TSX) closed a+t

§ 4.28 on Monday, closed higher
a¥ $ 517 on Tdesday, Finishe&g Wednesday
at $479, and shot up to close at

§ 7.15 on “Thursday, only to finish

the weekK at ¥ 6. Y40.

a) What is the net change in the closing
value of this 8tock for the weekK?

'ﬁ'{c net change in the Q\OSH\S value o-F
stoclk Yis the change “from the

“+hus
Starct of +he week to theg end of the
week .

= 86 40-84.08
= §9.12

cha “fje' N tHhe

b) Determine +he +otal
ock.

C\o&fng value of +he s+
(et Vi=H4.28, Vo=510T ) V3=4.19,V4="115 & V5= 6.40.

\Vz"\/a l‘l“ l\{e,"\[z l '\“\\/q" Vs] * lVS"V‘{
12.07-428 ]+ 14.79-5.17 ] +177.15-479 | + [ e.q0-1.15 |

| 0.89] + 1-0.381+ 12.361+ 1-0.75 |
0.89 +0O.8383 v+ 9.3+ 0.715

4.38 -
n the Closina value

The total change v
of This Stock x@ ¥ 4.38.

i n oy
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G. G’msider +he functions F(x)= Sx+2
and gd= |5x+2l -

b) S‘-‘iedzlrch Hhe rophs of Hhe functions
onNn The Same Coordinate Sr'.'d,

= fX)=5%x+2 bt |
\ 41 |
A ]
m=5 Cup) EELES u
| Cover) U lel I/ N
B—IHJI':QJ ' e
1._.I 4
a3
‘“56431-175 11;454_,-’;'1
42
- i L5
"F('v.}=5l+2, -4
| | {
T
W
| — j r

A

¢) Determine the domain and ran

qe for both
£ and 8(.7().
For £ - | For 8(x)3
CDormin-'?Xb(&R} Domain {x\xER}
&Qnse: VIYER} RGY\SQ:{yl\/.{O,YE,R}
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7. (onsider +he funchions F(x)= 8-x*
and  gx)= | g=%?

bB). SKetch the graphs of the functions

on the same” coordinate 8rid.

= F0= 8=x*
)= -%x*+§8

’HJ—'.' nte

~-(0*+8
% O+
fv,

i n

=3

Y~ints.
= =%+ 8
_gﬁ—fx?—
8= x*
H®= %

iz =%

Vert+ex -

==-%*+|

= -(x-0Y+8
I Co,8)

c]Determine Hhe domain ond ra
£ and SCX)-
For £&):

nge ‘or both
Domain -

For 8(:)()-'_
v L XIXER Domdin . $x|xER}
ange - {"d\’:j-‘- S,BCR} asmac‘{\llj ?-O)BEP&
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8. Write +he piccewise +unction Hhat
represcntsS each Srcth-

’8 Z'X"i o x22
= (2%~ “U £ x<2

W Ry {Xifxetoraa)
A - l) 1 -1<ex<d
FERVALNS
m~2 -1 .'Qv”"jf =1|x2—2 ”i

12. Solve each quuah’on Q\Sebraica\\y.

a)lg+al=2 =0 § lq+al={q+9, q=2-9
. N

Cose A
Ny

¥ qi:-_l satrisfies +he condition qQz-9.
Case 2.

-(qjcﬂ 2
C:U\-q =-2
q=-2-9
CL_ = §

¥ q==Il Satisfies the condition q<-9.
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m Solutions -—,seeee———

b 1 1%-31=x+1 ITx-3 1= 7%x-3, x= 37
._(_]X“Z))J.X‘s_‘-_gf-;

Case 1

TX-3=X+1
Tx—%X=1+3

g

X
X

o,

o

2

3 _

¥ X=%/3 Satrisfies the condition X =9/

~ Cose 2 | |
~CIx-3)=%x+1

I S3=%x+4
=== "1=3

-%(=:_2_t)_
-

XK= 2D

u
L]} o)

¥ %=1y satisfies the condition X <3]9.
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